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R s R SE=an);
g s
Sl HS AL S CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O dMEMsEU=sd Fit3H & 112,250
DEZH=3 32 tHal&d X& 16,000 16,000 0
307 glz2tol & 16,000 16,000 0
04 QIZFHALAIH B = 16,000 16,000 0
OXM=3 838 ta It N3 16,000
DEZHMHAMEE SHHE Hal &t 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIR B = 10,000 10,000 0
ONEZHMAMESE SHME U3l &It 10,000
g ZHM=sHE ot 15,000 15,000 0
307 2201 A 15,000 15,000 0
04 DIZHHALALSE E X 15,000 15,000 0
oZagFMUMEUHE FIotEH K& 15,000
Zoadgr sotel=2d s ot 2,000 2,000 0
307 glz2tol & 2,000 2,000 0
04 QIZFHALAIH E = 2,000 2,000 0
OoZgsotd =28 Ua FotdH X 2,000
SOt M =HE &0t 3,000 3,000 0
307 21201 A 3,000 3,000 0
04 QIZFHALAIH B = 3,000 3,000 0
Osoteld=tial &It 34l X& 3,000
nNEzZd=ss 28 N 250,000 214,579 35,421
307 Qi2tol & 250,000 214,579 35,421
03 IAHMEE2IHIES 250,000 214,579 35,421
ongdziss 29 XN& 250,000
Hsds 19,749,511 14,148,041 5,601,470
s 2,060,000
Jl| 3,118,864
< 881,073
[ia 13,689,574
AZEMAS LA 3,693,450 2,848,500 844,950
< 169,000
s 3,524,450
Hs2silad 121,200 195,000 A73,800
201 Let249] 65,200 79,000 A 13,800
01 At 22/l 65,200 79,000 A 13,800
Ooget=gH| 2,700
OAZHAER L B4 RN
90,000& 304 2,700




M MsSAEL
M Msd=s
el AEZAARLN S CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OZYFC D& Z00 E8 25,000
O&YFC D48200 22 25,000
oUx2 37,500
OXN=stal &2 &Hl LXt 37,500
203 € R =&lY| 4,000 4,000 0
03 Al Z=A SR =AH| 4,000 4,000 0
OALBHMESHAL HH 20,000& *10¥ *103] 2,000
OsSHEXN=ZAHE AH 100, 000& *207H & 2,000
301 dEtE A= 2,000 2,000 0
09 HAIAHI X &= 2,000 2,000 0
OLAZMEUZ AU B4 50,000& *10H 43| 2,000
307 212t01 & 50,000 100,000 A50,000
04 QIZHSHAFAIE 2 X 50,000 100,000 250,000
OAZ MEdHAI B8 K&
1,000,000& *503] 50,000
AZXOHE & M2 | 11,250 12,500 A 1,250
201 LBEt2 9| 11,250 12,500 A 1,250
01 At 22l Yl 2,250 2,500 A 250
OAZXOIAHEY 2= H& 1,000& *2,250% 2,250
03 S AIS H I 9,000 10,000 A 1,000
OAZL=[OIAE & dXNE=2SESFX AH 9,000
AYACHBF I AU 6,000 6,000 0
307 QI2t0| ™ 6,000 6,000 0
04 QI2tSHALAIE E &= 6,000 6,000 0
OJ3YACTHWH| XD A3l HEXHA 6,000
D8N ES ST 3 20,000 7,000 13,000
307 QI2t0| M 20,000 7,000 13,000
04 QIZHSHAFAIRE 2 X 20,000 7,000 13,000
ONYEZath MEE HdLUS M=XA 20,000
DEZEFEIEI) =72US 6,000 6,000 0
307 QI2t0| ™ 6,000 6,000 0
04 QIZHSHAFAIE 2 X 6,000 6,000 0
ONHEZEFEIAXND =2Ua MWK 6,000
SHEE2E ¥F=20Sstn EFUI 210,000 210,000 0
307 QI2t0| ™ 210,000 210,000 0
04 QI2SHALAIE B &= 210,000 210,000 0
OZMBE2U M=310Sstw SFAUS M=K 210,000
Hd=2AENNE sS4 JYUHE 82H 13,000 13,000 0

H

5,000




2A4: MEIEDL
HH: RS
Celr AT ZMNASHT R CER-ED
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
o 8,000
307 2iz2to| A 13,000 13,000 0
&< 5,000
= 8,000
04 DIZ2tSHAFALS B X 13,000 13,000 0
ONZAUEMYAE A AEUHE AN HEXH 13,000
o= 5,000
= 8,000
DEZL0 8=249U3 9,000 9,000 0
307 QI2t0| ™ 9,000 9,000 0
04 CIZ2tSHAPALS B X 9,000 9,000 0
ONHEZHl =23 HEXA 9,000
dEY s 903 3,000 3,000 0
307 212t0| & 3,000 3,000 0]
04 SIZ2HSHAAISHE E X 3,000 3,000 0
O3dYxzZstMA 3 3,000
d2Z2EHEHEIEHdLE=AU S 90,000 80,000 10,000
307 2Iz2t0| & 90,000 80,000 10,000
04 SIZ2ISHAAIH E & 90,000 80,000 10,000
oX=dHIEAA=AUS M= X 90,000
SHEXNEA AEEL O 120,000 120,000 0
307 2iztol & 120,000 120,000 0
04 CIZ2tSHALALS B X 120,000 120,000 0
OSHAEXEA AEBSZD MA X 120,000
DEZM=3s 838 MEMNsUH M= 152,000 154,000 A 2,000
= 4,000
= 148,000
307 QI2t0| ™ 152,000 154,000 A 2,000
= 4,000
= 148,000
04 CIZ2tSHALALS B X 152,000 154,000 A 2,000
OM=3 838 M=Ua Nzl X 37,000
& 4,000
= 33,000
ON= MEH= HHE2E U3 55,000
O&= MEH= > 3l 60,000
Jadgr O3 9,000 9,000 0
307 212t0| & 9,000 9,000 0
04 SIZ2SHAAISH E X 9,000 9,000 0
od3dY Oct=e=2Z g ME N 9,000
DEZ40 8=2HLUAWHE 6,000 6,000 0




M MsSAEL
M Msd=s
el ARXMAKHN D (el @2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
307 212t01 & 6,000 6,000 0
04 QIZHSHAFAIE 2 X 6,000 6,000 0
Ozt d3HLIAME M= XA 6,000
DI ERUS 5,000 5,000 0
307 212t01 & 5,000 5,000 0
04 QIZESHALAIE B2 X 5,000 5,000 0
Ond=2atl ERUS HE XA 5,000
DEZ BHEQIEH S 6,000 6,000 0
307 QI2t0| ™ 6,000 6,000 0
04 QI2tSHALAIE E &= 6,000 6,000 0
ONdZaHl BHEQASHWS JHE K& 6,000
ASEHIANHNIUSZ 8,000 8,000 0
307 QI2t0| ™ 8,000 8,000 0
04 QIZ2HSHAFAIRE 2 X 8,000 8,000 0
og9se AN M=l XA 8,000
M=2R4+4E E2013 64,000 64,000 0
307 QI2t0| ™ 64,000 64,000 0
04 QIZHSHAFAIHE 2 X 64,000 64,000 0
OX= R24E F2US HEAXNA 64,000
DEZH SEUS 10,000 10,000 0
307 QI2t01 ™ 10,000 10,000 0
04 QI2FSHALAIE B = 10,000 10,000 0
ONdZtl =ZUHS M=K 10,000
AEES AU MNEU 3 10,000 10,000 0
307 QI2t0| ™ 10,000 10,000 0
04 QI2tSHALAIE E &= 10,000 10,000 0
OZdSEIEWM MNEUS =l XA 10,000
JEEIEI FEUF 15,000 10,000 5,000
307 QI2t0| ™ 15,000 10,000 5,000
04 DIZHSHAFAIRHE 2 X 15,000 10,000 5,000
OdYEIEI H=Ual M=l XA 15,000
d=22EF720U3 40,000 40,000 0
307 QI2t0| & 40,000 40,000 0
04 QIZHSHAFAIE 2 X 40,000 40,000 0
OX=28 s70U3 Mz X& 40,000
dENESHLUS 30,000 30,000 0
307 QI2t0| ™ 30,000 30,000 0




2A4: MEIEDL
HH: RS
Celr AT ZMNASHT R (S5 &)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
04 SIZ2ISHAAIH E & 30,000 30,000 0
OdENESHAEUZ HEl K& 30,000
AYQE €303 15,000 15,000 0
307 gizto| A 15,000 15,000 0
04 QI2FSHALAIE E = 15,000 15,000 0
OFdY2E &32U3 Il A& 15,000
AaYs BHA O3 30,000 30,000 0
307 212t0| & 30,000 30,000 0
04 CIZ2HSHALALS B X 30,000 30,000 0
OdAMET EHIEZ=USE M=l X 30,000
NAEZLH =23 7,000 7,000 0
307 2Iz2t0| & 7,000 7,000 0
04 SIZ2HSHAAISH E & 7,000 7,000 0
ONdZ+tl =2 Usal MaX& 7,000
DA OOl oH CH3 300,000 250,000 50,000
= 20,000
= 280,000
307 2iztol A 300,000 250,000 50,000
= 20,000
= 280,000
04 QIZ2tSHALALS B = 300,000 250,000 50,000
O1H OrO| ol [H3| JHEI X 300,000
o=t 20,000
= 280,000
HFE) M=ZDESW =103 230,000 215,000 15,000
= 20,000
= 210,000
307 QI2t0| & 230,000 215,000 15,000
& 20,000
= 210,000
04 CIZ2tSHALALS B X 230,000 215,000 15,000
OFE) MZIDESD =2U3 Mzl XA 230,000
= 20,000
= 210,000
WEZH =510 s72U3E 50,000 50,000 0
307 2Iz2t0| & 50,000 50,000 0
04 SIZ2HSHAAISH E & 50,000 50,000 0
OuNELI == stM=s2008 WX 50,000
EAFUZ] AZ22A=SH 180,000 180,000 0
307 2iz2to| A 180,000 180,000 0
04 QIZ2tSHAFALS B X 180,000 180,000 0




2N
X ZH -
L= B

el

R ESE=an);
HEdE
AZAASHIE

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O=+c 232 MK 180,000
8= MZEI2=Z U3l 80,000 80,000 0
307 glz2+ol & 80,000 80,000 0
04 QIZFHALAIH B = 80,000 80,000 0
Od= HMZEIAZ 3 80,000
M= St A 160,000 160,000 0
307 21201 A 160,000 160,000 0
04 QIZFHALAIR B = 160,000 160,000 0
O&= s i+ WA 160,000
dg == 232 UH3 6,000 6,000 0
307 2201 A 6,000 6,000 0
04 DIZFSHAIAIRI 2 = 6,000 6,000 0
Oz ==t 22H3l 6,000
ZEEIEI 30U 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
04 QIZFHALAIH E = 5,000 5,000 0
OZGEaFEI 22U 5,000
AZ MILEME a2 H 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIH B = 10,000 10,000 0
Oz d=2A2EMH 8L H 10,000
HIMEHNE A= 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 QIZFHALAIH B = 20,000 20,000 0
OX=MENST AU 20,000
et =AW EH MIMEMSIAE=UE 20,000 20,000 0
307 gl2tol & 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
OUSHA T HUS T I MEXNSAZHS 20,000
d= &3 i3l 160,000 150,000 10,000
307 glz2tol & 160,000 150,000 10,000
04 QIZFHALAIH 2 = 160,000 150,000 10,000
o&= &+ s 160,000
IS MAZ 3 70,000 70,000 0
307 21201 A 70,000 70,000 0
04 QIZFHALAIH B = 70,000 70,000 0
Od= stdl ZU3 70,000




R s R SE=an);
g s
el ARXMAKHN D (el @2)
L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ZEEa & =3 5,000 5,000 0
307 gl2tol & 5,000 5,000 0
04 DI2ZHHALALSE E X 5,000 5,000 0
OZEEalZth s7Ual 5,000
&2 2ZHE 60,000 60,000 0
307 glz2tol & 60,000 60,000 0
04 QIZFHALALH 2 = 60,000 60,000 0
o&= 2% U3l 60,000
dI3AEXNSU 95 42 A 2,000 2,000 0
307 21201 A 2,000 2,000 0
04 QIZFHALAIH B = 2,000 2,000 0
O&=AdN=EUHa 9 42H 2,000
d= S8 ER2U3 200,000 185,000 15,000
< 20,000
[ia 180,000
307 21201 A 200,000 185,000 15,000
= 20,000
[ia 180,000
04 DIZHHALALSE E X 200,000 185,000 15,000
Od= =t =703 200,000
< 20,000
i 180,000
d=HLAKS 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
Od= MEHM= HLA Ul HEXH 20,000
AZIMASHNEMEH 2L XA 250,000 150,000 100,000
< 100,000
[ 150,000
307 glz2+ol & 250,000 150,000 100,000
< 100,000
e 150,000
02 QB HAANGEEE 250,000 150,000 100,000
OAEZ=NMASHRNE HEHH 23 XA 250,000
< 100,000
[ia 150,000
dEH=s =20 10,000 0 10,000
307 21201 A 10,000 0 10,000
04 QIZFHALAIR B = 10,000 0 10,000
odMExs =703 HaXA 10,000
BEEXAD HEZZM3 35,000 0 35,000




R s R SE=an);
g s
Celr AEIMASHL @ (S5 &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 35,000 0 35,000
04 DI2HHALALSE E X 35,000 0 35,000
OZEEZXAD ME=304s =X 35,000
d= B=dl3 70,000 0 70,000
307 eIzl & 70,000 0 70,000
04 QIZFHALAIH E = 70,000 0 70,000
Od= B3 Wzl X 70,000
N2ZY AHdI =03l 5,000 0 5,000
307 21201 A 5,000 0 5,000
04 QIZFHALAIH B = 5,000 0 5,000
ONMEIEELZEUE HEXA 5,000
d=2 RAUsAUE 20,000 0 20,000
307 21201 A 20,000 0 20,000
04 DIZHHALALSE E X 20,000 0 20,000
O&= |R44Y s2U3 HEXA 20,000
d= gdsSa2 s 160,000 0 160,000
307 glz2tol & 160,000 0 160,000
04 DI2HHALALSE E X 160,000 0 160,000
OX=ZUHS IS HEX 160,000
2 B==disl 30,000 0 30,000
307 glz2tol & 30,000 0 30,000
04 QIZFHALAIH B = 30,000 0 30,000
OZd E=dUs HzX=A 30,000
= FoH t=Ue 30,000 0 30,000
307 21201 A 30,000 0 30,000
04 QIZFHALAIH B = 30,000 0 30,000
O&= ZOHeIIt=CHEl W= XA 30,000
8= NS 170,000 0 170,000
307 gl2tol & 170,000 0 170,000
04 DIZHHALALSE E X 170,000 0 170,000
OX= NEU3a HaX 170,000
=2 QEAHAALOIAEHE HE 110,000 0 110,000
307 glz2tol & 110,000 0 110,000
04 QIZFHALAIH E = 110,000 0 110,000
ON= QLE/HARALUSE A X2 110,000
d=3 HESUS 130,000 0 130,000
307 21201 A 130,000 0 130,000




SN HENED
g s
Celr AT ZMNASHT R CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 130,000 0 130,000
O&= #HEZUa Mzl X 130,000
2d ER03 10,000 0 10,000
307 glz2tol & 10,000 0 10,000
04 QIZFHALAIH B = 10,000 0 10,000
0&ddY E2U3 MHEX 10,000
FEZXAI HOESUE 4,000 0 4,000
307 21201 A 4,000 0 4,000
04 QIZFHALAIH B & 4,000 0 4,000
OA3LZXAI AHOIESUSl MHEIXA 4,000
8= =2SE2AEEC ] 5,000 0 5,000
307 gl2tol & 5,000 0 5,000
04 DIZHHALALSE E X 5,000 0 5,000
Od=3 =S=EAES2 D MA X2 5,000
=2 QEFHAAL AW S 60,000 0 60,000
307 g1zl & 60,000 0 60,000
04 QIZFHALAIH 2 = 60,000 0 60,000
Od= LEAHAAY L =AU MHa X 60,000
M sE4s 396,607 384,400 12,207
J| 146,160
< 8,768
[ia 241,679
CHMEX XS A B XA 175,392 163,728 11,664
J| 87,696
[ia 87,696
307 21201 A 175,392 163,728 11,664
J| 87,696
e 87,696
02 HAFHAANGFEX 175,392 163,728 11,664
OgetME S At b X 175,392
J| 87,696
s 87,696
HEAMMETS K S A i XA 116,928 109, 152 7,776
J| 58,464
[ia 58,464
307 gl2tol & 116,928 109, 152 7,776
J| 58,464
s 58,464
02 It S AHE L 116,928 109, 152 7,776
OHZAMMEXSX A BHX 116,928
J| 58,464
[ 58,464
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R s R SE=an);
Mo SIS
chelr MEHSEAS (S5 &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
MEALASE XA 19,000 19,000 0
307 gl2tol & 19,000 19,000 0
02 It M AHE L 19,000 19,000 0
OMSAE MEE X 19,000
HMEsd3tAY 700,720 675,327 25,393
J| 25,704
< 3,305
i 671,711
MEeEld3URsd 663,000 507,000 156,000
307 glz2tol & 663,000 507,000 156,000
02 It HAHEE 663,000 507,000 156,000
OMs&BEUR |4 X 663,000
HEIERSAHEE 1,000 2,000 A 1,000
301 LEPEXZ 1,000 2,000 21,000
12 JIE2 43 1,000 2,000 A 1,000
ON=XNERSA HE 100,000& =10 1,000
AZIAN 0IEF ALY 36,720 34,327 2,393
J| 25,704
< 3,305
i 7,711
301 LA F 36,720 34,327 2,393
J| 25,704
< 3,305
[ia 7,711
01 MI28E 6= 36,720 34,327 2,393
OAZ=2E 018A A 36,720
J| 25,704
< 3,305
i 7,711
MSIIEtAIZ & E ALY 12,723,000 8,120,000 4,603,000
s 2,060,000
J| 2,947,000
< 700,000
i 7,016,000
HSAE A 75,000 1,960,000 A 1,885,000
401 Al HI R 201 I 75,000 1,960,000 A 1,885,000
01 A& HI 75,000 1,955,000 A 1,880,000
OO0eol & Hd8 23717 &1 25,000
OZE2SE FH FUEFZLISAM L2 THH
L HISAL EAHEA 50,000
NLHMSAL(Sch MEBIHMSAE ZHAY) 1,000,000 0 1,000,000
401 Al HIZ 201 8] 1,000,000 0 1,000,000




R s R SE=an);
¥y MSTE
SR MISIIEAIESESAY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 1,000,000 0 1,000,000
O=ol MEXNFAE ZEAY 24| 1,000,000
SSTMEXSALNE (DEZ 0F7E ZHAY) 3,600,000 1,750,000 1,850,000
ras 1,000,000
[ia 2,600,000
401 Al HIZ 2018 3,600,000 1,750,000 1,850,000
ras 1,000,000
i 2,600,000
01 A& HI 3,600,000 1,750,000 1,850,000
ONEZ OF&E ZdEAY 3,600,000
s 1,000,000
s 2,600,000
BICHH MIS2SHUE (ZLHMSHH (ZHE)) 2,000,000 1,900,000 100,000
J| 1,300,000
< 700,000
401 Al HI L = Tl 2,000,000 1,900,000 100,000
J| 1,300,000
= 700,000
01 A& Hl 2,000,000 1,870,000 130,000
OB M S 2t H (UM HH (AL EHE)) 2,000,000
J| 1,300,000
= 700,000
BICHHl MS23HH(ME23HEH) 900,000 900,000 0
s 300,000
s 600,000
401 Al HI L 2 THHI 900,000 900,000 0
s 300,000
s 600,000
01 A& HI 900,000 884,000 16,000
Ottt MS2stdH(HE 234 H) 900,000
s 300,000
s 600,000
THHUAT MEBAL LAY 1,900,000 0 1,900,000
s 760,000
[ia 1,140,000
401 AIEHI L 2 CHYI 1,900,000 0 1,900,000
as 760,000
[ia 1,140,000
01 A& HI 1,900,000 0 1,900,000
OSEHUAZE HEZFAE ZEAY 1,900,000
s 760,000
fia 1,140,000
SE2sY ¥ AZXER2 79 HESAY 2,000,000 0 2,000,000
J| 1,000,000
s 1,000,000
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401 Al HIZ 201 Y| 2,000,000 0 2,000,000
J| 1,000,000
s 1,000,000
01 A& HI 2,000,000 0 2,000,000
OZESSER L AEXES A4 HELA
o 2,000,000
J| 1,000,000
s 1,000,000
AXXER FERF(17E) 849 WA 400,000 0 400,000
J| 200,000
s 200,000
401 Al HIZK 201 I 400,000 0 400,000
J| 200,000
s 200,000
01 A& HI 400,000 0 400,000
OAZ=EIZ SERF(12E) S MHESAY 400,000
J| 200,000
[ia 200,000
DES HOESE HE=AY 732,000 0 732,000
J| 366,000
e 366,000
401 A& HIZ 2018 732,000 0 732,000
J| 366,000
s 366,000
01 A& HI 732,000 0 732,000
ONEE HOIEZEH HE=AH 732,000
J| 366,000
[ia 366,000
AXXER ERFE (47 E) SEY HESFAY 116,000 0 116,000
J| 81,000
[ia 35,000
401 AIEHI L 20 116,000 0 116,000
J| 81,000
[ia 35,000
01 A& tl 116,000 0 116,000
OAZXEIR FEFRT(URE) st&4A HESAY 116,000
J| 81,000
e 35,000
HEAME2Y 1,307,828 1,268,526 39,302
HsAE2e 1,307,828 1,268,526 39,302
101 @124l 110,824 103,037 7,787
04 JIZHHZ2Z2XNHESE S 110,824 103,037 7,787
OZ3SHEANE RA2el AR 58,649
OoJlzs 1,822,480& 1201 & «2Y 43,740
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M HsXE
S MANE2Y (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Od x4 69,760& x 15 x2H 2,093
o4 B8 & 28,427,200 *13%*2H 7,392
HESE=, 77,0603 *302! *(365/365)*2H 4,624
Ol =t 100,000& »28 »235| x2H 800
OMESEHADZ2ZH SIEA HA 0122
69,7602 ¥0 *4% 25,114
OMSALEY 0I5 % HE AR
138,290& 60 x2H 16,595
O2=01& otd2e] 22 10,466
(OPIE=3=| 69,760& 30 *3H 6,279
OFs ¢ dxx=E 69,760& x5 *3H 1,047
Ose2=2sY 69,760 *1.5x10 x3H 3,140
201 Bt A H| 660,404 522,489 137,915
01 AR 22l ] 145,580 131,476 14,104
O bt 2H| 11,000
OBl XZ(A2H0/3 Q) 450,000& =80H 3,600
oOFHIAXNZ(RHZ FTHA)
2,500, 000& «2LH 5,000
Og=4 EFANME & 22 6,000& *2000H *43 4,800
oBogEdrrg 8,880
Oln8= sg2sd 100,000& *12& 1,200
Oadsa & SFH2 170,000& = 12& 2,040
Oog9cdId ¢ ags 170,000& x12& 2,040
Ot =X & 100,000& «12& 1,200
OdtoI N = = 100,000& = 12& 1,200
Osotg s 100,000& =128 1,200
O&I|tM 22 X2 27,720
Oote s A& 120,000& =128 1,440
ON8= EE2sd 420,000 x12& 5,040
ODNAHEZ AMs2 170,000& = 12& 2,040
ONEHNEssd 150,000& ~12& 1,800
ONZ e e dH 120,000& *12& 1,440
(@) ===l PN 320,000& ~12& 3,840
Ol U=2E=2XA2(MSAIA)
120,000& ~12& 1,440
OoloI Xl = = 150,000& *12& 1,800
ODNHEZNEER 120,000& ~12& 1,440
OAEZXEI2(17E) 120,000& = 12& 1,440
OAZLXES(2,3,472 %) 320,000& 128 3,840
Os148 HEAME 180,000& ~12& 2,160
OAagtotM 2L WA LE=S2
182, 000& x5 A~ x 128 10,920
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M MsSAEL
Hu: HENE
Sel: HSALEY (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O(7)Z8cesg(20zxg,. 828S)
75,000& *25EA 1,875
OLNHdZAUMS2 (LT £2D1)
270,000 *x 12EA*23] 6,480
O =HIH(LEtxY E2T])
75,000& *50EA 3,750
OSSHSAL(YYUEY BAS)
75,000& *50EA 3,750
OALXEI2(EZI,HIIESD101)
500, 000& *10EA 5,000
OAFER X 22| 53,819
ONEZEE=2sH 1,017& 18,545 18,861
o(F)zeessd 1,017& %2, 441m° 2,483
OnNgZaUNs2 1,017&*2,580m 2,624
ONEHNEssd 1,017& *7,680m 7,811
ONZeedH 1,017 & *372m 379
(@) ===l PN 1,017&*2,215m 2,253
ONEZMNEH 1,017& %1,434m 1,459
OAHOIE=ZH 1,017& *3,504m* 3,564
OAZLXER 1,017 *7,848m 7,982
OdtolH A =2 1,017 & *706m* 719
OUNHL=E=X 3 2 1,017& *1,202m 1,223
Ostg s 1,017& *4,158m 4,229
OsSNEAHSAE 1,017 & %228 m* 232
206 M= Hl 6,000 7,000 A 1,000
01 X2 bl 6,000 7,000 A 1,000
O(R)BESSH SEE2H,0IAIF2 Y
600,000& =10CH 6,000
401 Al HI YL 2 0HHI 530,000 570,000 AN 40,000
01 A& HI 530,000 570,000 A 40,000
OsIHEMSAE &C A2 40,000
OBBHSAE(HMISZ) ZOAEHAAIL & 30,000
O3SHEAE HHFHEA 40,000
OZBZ2MSAE FAAA2(=M, B4 5) 30,000
OZE2sd AMHE &0 FANE+8Y 120,000
ONHEMEISE ANEBZAY 150,000
OWMAMIEL HEFSAE FUAMY 120,000
405 XH&kE S| 600 6,000 A5,400
01 AL 2B F SHI 600 6,000 A5,400
o2& dAIE &I Y (X 5) 600
SHASHE 29 479,791 655,989 176,198
=M HHSY 464,891 616,089 AN 151,198




R s R SE=an);
Hu: HENE
& SHSHEH 23 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
jeilal.]] 213,635 169,549 44,086
N2 2RSS ES 213,635 169,549 44,086
O=sMsHdEH 22 22 142,423
OoJlzs 1,822,480& 1201 & 4 Y 87,480
Ogxt==g 69,7603 x 15 x4 H 4,186
ONMZAZE2E 69,7603 *1.5%52=F x4H 21,766
o4 282 28,427,200 * 13%*4H 14,783
O&8 &= 77,060 +30! +(365/365) *4H 9,248
o1l =l 100,000 & 2 23| x4 H 1,600
OXA g 7,000 «10 » 128 x4 3,360
OZ& tdA o2y 71,212
OJlzgs 1,822,480 1201 & 2 43,740
O=% ¥ dx=¢ 69,7603 x 15 «2H 2,093
OANMZ 22+ 69,7603 1 .5x523F x2H 10,883
o4l 28 28,427,200 »13%*2H 7,392
ExZ3 77,0603 *30L *(365/365) 2 4,624
o1l =l 100,000& 2 23| x2H 800
OXAH 7,0003 x10L x 123 «2H 1,680
EIEE T 241,256 241,256 0
At 2t el | 40,650 40,650 0
O el 11,600
O+gTUTZ MEIIE =28
300,000,000 *3% 9,000
OEEY 2 150,000& = 12& 1,800
OdEJ|etE e s+ E 380,000& »12& 4,560
OAagordae W= 130,000& =128 1,560
O&sZ)| etz =2  220,000& 128 2,640
OREES AEE 20,000& 123 240
OUIIXIIEE =2 1,000,000& *14 2 *23| 2,000
OF==Jl&c =2 120,000& 128 1,440
oOYdx=xg 100, 000& *63l 600
OsLlE AN 120
OS1d =4 FIIEAMEEE 750
O FIIHA=Z 250,000 »2CH 500
OTIY HEES =& w2l
11,0002 90| x12& 1,188
Ost&EA HMEM KA 22 11,0008+117[x128 1,452
oAt E 3 100
OAZANE SEFLEHE=E 1,100
02 =224l 200,606 200,606 0
OXIIB(TVadlE ZEH) 9,200,000 128 110,400
Odot=E 23 2,700,000& x12& 32,400




M MsSAEL
Hu: HENE
o4 2ASHH 29 (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
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o=IEANLRE 2 700,000& *23| 1,400
OF2 & BIEHIT ALz 7,500
OEAE2SI|IF =&KX Ll 500,000& *10CH 5,000
OYUHAMRAE =57 XY 4,000
OERHAFH Il WXl 40,000& *2H 2~ x20EA 1,600
OO0 XFAFRK Il WXl
40,0003 *2JH A~ *20EA*1.53] 2,400
OH™IIANE =&KX HI 10,000
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Os9E Ex9 M 200, 000& *10EA 2,000
OZZHE 2 X 600,000 *2EA*53] 6,000
OAFER A 22 Y| 2,0343 *3,690m 7,506
(©)sK=3] 20,000
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01 AL 2B F SHI 10,000 26,000 A 16,000
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SStH M E Al & 22 14,900 39,900 A 25,000
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Oxg& 29 *E P2 550,000& *5& 43| 11,000
Ox+9& ZH uA 1,300,000& *33| 3,900
=20 dsdEHESH 448,115 195,299 252,816
SUMNHHS Y 448,115 195,299 252,816
101 @121l 28,925 26,069 2,856
04 JI2ZtH 22 XNHEE =+ 28,925 26,069 2,856
O=Z0MEHH 22| o8 28,925
oJl=3 1,822,480& 120 & ~1H 21,870
OA R =G 69,7602 x 15«1 1,047
o4 B8 & 28,427,200 *13%*1H 3,696
Ogd3 77,0603 *302 *(365/365)*1H 2,312
201 2ok 2 Y| 119,190 119,230 A 40
01 AFR2t2ldl 35,850 35,890 N40
oget2H| 35,850
OMEESFY 2,000
Ot AR P2 200,000& «12& 2,400
OF3ASEFY 200,000& x12& 2,400
OZet=2A(sEI)EH7Y
250,000& *4& 23| 2,000
OZc=EAI(2SI)EHINER XL 4,000
OZgED 8¢ & EHFL 500,000 23] 1,000
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2H: MSAED
X oY E=xd
Helr g JEEEY (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 1,750,000
401 A& HIZ 201 I 5,000,000 5,000,000 0
< 3,250,000
s 1,750,000
01 A& HI 4,631,040 5,000,000 A 368,960
ODNSMHLHZ=0tI0I0l HAS (HEH) 4,631,040
< 3,010,176
[ia 1,620,864
02 Zeltl 368,960 0 368,960
ONMoH Ll Z=0tItU0l HE AL 2| (& EH) 368,960
< 239,824
e 129,136
HH2IAZH(MSHEDL) 56,360 0 56,360
Jl= &l 56,360 0 56,360
22 AY| 15,200 0 15,200
201 Let24d] 15,200 0 15,200
01 At 22l 15,000 0 15,000
O Eet==EH| 15,000
02 =224l 200 0 200
O0z3E2= & HA 200
04 bl 38,160 0 38,160
202 44l 38,160 0 38,160
01 SLHOYI 38,160 0 38,160
O 2tLH o HI 28,800
O22 ol 9,360
HEFZFH 3,000 0 3,000
203 YR =&t 3,000 0 3,000
04 FN2ELSZ=TH| 3,000 0 3,000
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